E17ERVEEFTRABAS I ONER &R

3B Bz | EFKHA FhiE S1|S2|S3[S4]|S5[S6]S7[S8]S9(S10] L E H D Time | Total
%2 1 |FH XFif AXAIX)F=X 3(4[3[4]6]6]5]6]14(8([0]15.1]10.0{f 0.0 [ 0.000 [(25.100
2 KiE & DRREL 714[4]14[6]6[5]5[6]6[0]14.7]9.9] 0.0 [ 0.000 |[24.550
3 | #K K URE 6[6]6]16|14|]6|6|6[6[6([0]14.2]110.0f 0.0 [ 0.000 [24.200
4 | Mt &BHE KELAR=RSURU>H5T 5[16|]6[8]8|6]|]7]6]|]8]6]0]13.4[10.0] 0.0 | 0.000 |23.400
5 [BH Fi&TF BESCEE 818[(9]19[/9]8(9]18[8]7[0]11.7]9.8] 0.0 [ 0.000 [21.500
6 P& Ein BESCI&E 819(8]10[(10] 9 (10]10[{ 9] 8 0[10.9]10.0] 0.0 [ 0.000 |{20.900
7 =H &M BESCEE 8110( 9]10[(10] 9 [(10]10({ 8 8 [ 2 [10.6] 9.4 ] 0.0 [ 0.000 |{20.000
8 =H % BESCI&E 819 (10]10(9]J10f{ 0] O0Of[0O0O]J]O0f[O0| 6.4] 53] 0.0 0.000[11.650
1| AW HE UBE - :
EANEST BESCIA & - -r-r—-1- :
14 1 BH = BESCEE 617(7]17[8]10({8] 7[6]8[0]12.6]9.9] 0.1 [ 8.540|31.140
2 == KA I7VT)IRY=LZAR=YH5T 6|18(8]6[6]8[7]7[7]10{0]12.7]10.0] 0.8 [ 7.330 |30.830
3 EIXIER 5SS 8|1 8]8]8]6]|8|8[8[7[8[0]12.3]10.0f 0.6 | 6.060 |28.960
2%F 4% 1 [P EL1E BESCi&E 31214133334 3]7]2]16.3[9.9] 0.7 9.880]36.780
2 | 8 KE BESCEE 5141513 [3[4[3[3]4]5]0[16.1{10.0] 0.5 | 9.070]35.670
3 BREE PN = 7 Sl NP2 VD P 6|1]6[6]5[6]6[6]6[6]8[0]13.9]10.0] 1.0 [ 7.920 |32.820
4 JIA FE 5SS 616161668 7]]6[6[7[0]13.6]10.0f 0.7 | 8.380|32.680
5 |—B8EF| XKBELAUR=r2RUZHIFT 618(7]7[8]8([8]10[8]8([2]12.0]10.0] 0.6 [ 7.250 |[29.800
6 | 8K VRO BESCHEE 81 8] 81]10]10] 8| 8[9[9(8[0]11.4] 9.8 0.1 | 7.580 |28.880
7 EED R BESCHiE 718(7]17[10]8(8]8[8]8[2]11.9]9.5] 0.1 [ 7.260 |28.760
8 KRE 5 25U 8181819188198 [8[8[0]11.8]9.8[ 0.2]6.030]27.830
3F4E 1 B G =391 41241 7(3]13[1]2[3]6[0[16.5]10.0] 1.5 [10.300{38.300
2 | KE EKREB URREL 4 1414141355514 ]7]0]155]99] 1.4 110.550{37.350
3 hEF BiE URE 616[5]5[4]5[5]4[4]8[0]14.8]9.9] 1.3 [10.040|36.040
4 | IR HI4¥ BESCIEE 61 6|1614]5]6|5|5[4[6]2]14.5]10.0f 0.6 | 9.070|34.170
5 AR —id BESCHE 716[6]6[7]6[5]6[6]3[2]14.0]9.8] 0.1 [9.17033.070
6 [ LUK WITE BESCIEE 51416 8[8[8[8[6|]4]2]0[14.1{9.9] 0.1 |[8.710]32.810
7 | FIR EE BESCH & 617(7]18|7]6[7]6[7]8[0]13.1]9.8] 0.1 [9.650|32.600
8 |1 BMEE BESCIEE 816|181 8]8|8|8|]6|6[6]|2]126] 9.8 0.1]9.150]|31.600
9 NR FH BESCHE 8[816]18]8)8]8|8(8[7[0]123]9.6( 0.1 (7.870(29.820
=g | TA S SBISURY - -1 -1 - .
SHE | Bk B UBE 5N I I I I I S S A S O -
454 1 | &aE BIKF DRREL 4141 314131415514 7]0]15.7]9.8] 1.3 110.410{(37.160
2 P2 = BESCiE % 5(3[4[4]3]13]13]5]6[5([1]158]99( 0.4 (10.780(36.880
3 AP K UREL 5[16|]6[4]3]6]|5]6]4]4]2]14.9[10.0] 1.0 [{10.000]35.900
4 | Al 12t AXAIWX)F-=X 3[2[5[6]4]13]15]14]16(8([0]154]99{ 1.5 {8.930(35.730
5 1A 25 255 URUY 616[4]5[4]5[6]4[3]6[0][15.1]9.9] 0.8 [9.520|35.320
6 | SIS 161K KELAR=rI2RI>H5T 8[6]6]5]5]5]6|6[6[6[0]141]199( 1.5(9.670(35.170




E17ERVEEFTRABAS I ONER &R

i &4z | EFEKH FhiE S1[S2|S3|5S4[S5]|S6|S7[S8|S9|S10] L [ E H D | Time | Total
4% 7 | vk 5 BESCHi % 515|]6[6]6[6]5]6[6]15]0]144]9.9] 0.4 ]10.130(34.830
8 | BKAE BRI 6[5]6]17[6]4]14]16[4]5]10]14.7[9.9 0.6 |8.890)34.090
9 L 432 BESCHi % 6|16[6]17]|8[6]6]|6[6]7[0]13.6/10.0f 0.1 | 9.740 |33.440
10 | #&ll EX BESCH % 91919191871 718[7[7]10]12.0{10.0f 0.1 | 7.980)30.080
#Fig| 5% B ORES il I I M A A MR M N M e - - - -
5% 1 [KZE BRF UREY 715]1414(4]1]2]1416[4]1710]153[9.9(1.5]11.430]38.130
2 | #K Rk UREY 614[614]16[4]14|16[5]1]7[0]14.8]99( 1.4 |10.150(36.200
3 | IES B BESCH % 413141514 [6]7]16[6[6]0]149[(9.9([ 0.4 110.860|36.060
4 | et IXH BESCHi % 414[13]14[(4]14]15[6]13]4[0]159]9.9]( 0.4 |09.020]35.220
5 |5t s BRI RS 414[13]14[4]15]3[4]16]8[4]15.1]99]( 1.1 |9.020|35.120
6 | B FL BESCHi % 6|17[6]14]6[5]6|6[4]5[1]14.4]10.0( 0.1 |10.000|34.500
7 | KA AP SGNPZIVY 6|16[6]6|]4[6]|]6|6|6]6[0]14.2]9.9( 0.8 | 8.980 |33.880
8 [ JIIE #k BESCHi % 6|5[7]16]4[6]6|6[6]7[0]14.1]10.0( 0.4 | 9.010 |33.510
9 |&FH mEE SGNPZIVY 6[6]|]5]6[6]4]14]16[6]6]0]14.5[(10.0f 0.6 | 8.340]33.440
10 | 1R 26 BESCHi % 616[6]16]|]5[6]14]4[6]8[0]14.3]10.0( 0.4 | 8.740 |33.440
11 |§5K 722 BESCHi % 8[7]17]15[6]|]6|]6]|6[6]6]0]13.7[9.8[ 0.6 ]9.190)33.290
12 | XF FEE BESCHi % 6|14[6]7]|]6[6]6|6[|6]8[1]13.8]/9.6][ 0.4 ]09.210(33.010
13 | K Hia& BRI 6|1 6[5]6]5[4]5|5]6]38([20]12.4]10.0f 1.3 | 9.020 |32.720
14 | $%R HA BESCHi % 6[5]6|6[6|6|]6]|6[6]7]10]14.0{10.0f 0.4 | 8.350]32.700
15 ['BE Bty BESCiE & 717[6]16]|]6[6]6|6]|6]8[2]134]9.8]( 0.4 | 8.980 |32.580
16 | &% #&H ARELAUIR=RS2N)>I5T 8[8]8|8[6|8]8|8[7]8]0]12.3[10.0f 0.6 ]9.110]31.960
17 IR #6H RELATIR=RF2R)>I5T 8|1 7[7]16]|8[6]7|8[8]8[0]12.7]99]( 0.6 | 7.270|30.470
6% 1 [FH FifkiE AU F =X 41414)]6[6|6]|8[4]16]8[0]14.4]10.0f( 1.5 [11.550(37.450
2 xR & BESCiE & 51414[4]15(6[]4]16[5]6]0]15.1]9.7] 1.4 110.780[36.980
3 | BXRImE ARELAUIR=RS2N)>I5T 8|16([5]14]14[414|5[14]17[10]149]9.7[1.5]10.730|36.780
4 | N EIE BESCiE & 41414]13[4]15]14[4]13]16[0]159]9.9]( 0.7 |9.660|36.160
5 | H ME BRI 6|5[6]15]5[4]5|]4[6]18[0]14.6]10.0f 1.1 |10.020|35.720
6 | BKEE SGNPZIVY 415[4)14[4]6|4[6]14]6[2]15.1] 9.8 0.6 [10.260|{35.710
7 ANGR BESCHi % 51414416614 5[5]6]1]15.0[/9.9] 0.4 ]10.030({35.280
8 | RE B BESCHi % 4| 5[5]14[6]5]|]5[4]5]6[1]15.0]9.7[ 0.7 |9.570(34.970
9 | H¥KE BESCHi % 41414144151 8[6]14]14[0]153]9.7[0.4|09.520(34.920
10 | &K i BESCHi % 414151441414 [6]16]8[3]14.8]1 9.8 0.4 |9.600 |34.550
11 | % &C BRIV 5]15|5[6]4|[6]|6]6[6]8]2]14.1]10.0] 1.1 ]9.260 [34.460
12 | &l 23 RKELATIR=rF2R)>I5T 916[5]5[5]4]5[6]6]7[1]14.1]99( 1.5 | 8.700 |34.200
13 | Jbm ks BRI 5|15]5[6|6]4]6[5]6]5]10]14.7]10.0] 0.7 [ 8.840[34.190
14 | =H KA RKELATIR=RF2R)>I5T 4141657171991 7]19[2]13.1]199( 1.4 |9.470(33.820
15 PaAs 2 BESCHi % /7/6|]6|16[6|]7]6]6[8]|]6]0]13.6[(/9.9(0.4]9.110)33.010
16 | IR 122K BRI 6|17[6]6]4[6]6]|6]|6]8[2]13.7]10.0f 1.2 | 8.060 |32.960




E17ERVEEFTRABAS I ONER &R

=il 86z EFKHA FhiE S1[S2[S3]|54|S5[S6[S7]|S8[S9(S10] L E H D Time | Total
6FE BiE| SR BRI -l -1-l-1-1-{-1-1-1-1-1- - - - -
A=T2H3Z| 1 A& OF N=D% 41615141414 ([4[4[8]6]0]15.1]10.0] 0.8 |10.020{35.920
2 | tE#BF F—h RAYRA 51414[(6[4]1415[4]16]18]11]149]19.9] 0.7 (10.290[35.740
3 hE ALF SPIRIT 5(6[4[5]4]5]14]16]|6[5[0]15.0]99/( 0.9 [9.860 [35.660
4 | HiE HF NET> 6[41416[4[4]15]5[5]5]10]15.2[9.8[ 0.5]9.45034.950
5 HEAK FEFH PrimeNumbers 41614151415 [4[6[6]7]10]149]19.9] 0.9 ]8.920[34.620
6 | il ££F ANAIRUF =X 4151616 5[5]5]4[6[6]2]146[9.8[ 0.6 ]9.330)34.280
7 R H1° SPIRIT 5(8[6[]6]|]6]6]6]|]6]|6[6[0]13.9]99]( 0.7 (9470 (33.920
8 | =F XA I7UPIRU=LZR=Y95T 41617161 8[8]6]15[8[6]4]13.2({9.9[0.9]9.470]33.470
9 | =lF By SPIRIT 416|16)]6|8|6[6[6[6]8]2]13.6/10.0] 0.7 |8.770(33.070
10 | JIMH #a SPIRIT 51616461818 [8]|8]8[4]1129]194| 1.1 [9.55032.900
i | ZH E#® PrimeNumbers - -1 -1-1-1-1-1-1-1-1-1- - - - -
CU3ABF| 1 LUK IZE 23711 41415161413 ([4[3[4]16]10]15.7]10.0] 2.4 [10.230{38.330
2 | AR R =371 7151617141414 14[4[6[0]149]99( 2.4 (10.140(37.340
3 AR RE KELAR=RIIRISH5T 10866671871 7[7]2]12.6[9.5( 2.4 111.130{35.630
CU3ARZF| 1 [HE BER UREK 8[6|6]16]6|6|8|7[6[7[1]13.3]9.7( 1.9 (10.140(35.040
2 =¥ AE BESCHE 614[(4]14[6]5[4]15[4]14[1][153]9.9] 0.4 [9.220|34.820
FiE| == W4 RELAZR—R52IRI>I5T -l -1 -l-1-1-{-1-1-1-1-1- - - - -
BISAEF[ 1 A2 BX UREK 5[6[6[6]5]6]6]|]6]|6[6[0]142]94]( 3.9 (13.780(41.280
2 | = CRAZY-TRAMPOLINE 5(4[6[3]4]141414|13[4[0]159]19.9{ 3.2 (11.150(40.150
3 Tk B% CRAZY-TRAMPOLINE 616[4]6[6]4[4]14[4]6([1][149]9.7] 3.2 [10.670](38.420
4 | {kf8 pEZ= CRAZY-TRAMPOLINE 6516161414154 [4[6[0]15.0]9.8( 2.7 [10.500({37.950
BUSALZF| 1 gy #E CRAZY-TRAMPOLINE 414[(6|6[(4]14[4]5[4]5[1[153]9.8] 2.7 [10.870(38.620
2 [KH BHEE BESCH & 6[4]16]15[(4[4]14]16[5]6]10]15.0{10.0f 2.5 ]11.120]38.570
3 | &HIEE KELAR=RIIRISH5T 614141617141 8|6[8[6([2]13.9]10.0f 2.6 [{10.760(37.260
4 | 5Bg HF BRI 7171616(8|]7]6]6[6]6]0]13.5[{9.8( 3.2]10.310|36.810
BiE| PH A= URES -l -l -1-1-1-1-1-[-1-1-1 - - - - -
AUVZZBF| 1 | EFBX BRI 51616541514 [5]4]14]11]151]194| 7.9 [16.270]48.620
2 NS CRAZY-TRAMPOLINE 615(4]14[4]14[4]7[6]7[0]149]9.3] 5.7 (12.030{41.930
3 | EE &K UREK 6718|8888 8[8]|8]0]123[9.36.6]13.350/41.550
4 | Fhix BiIE URES 8110(8 187188 7[8]7[0]12.1]9.2] 5.6 [{13.470{40.370
5 | =H X# CRAZY-TRAMPOLINE 6[6|8|7[6|7]|7]|6[6]6]1]13.4[9.4( 4.1 112.990|39.890
ADSZ2ZF| 1 FH ZE=E CRAZY-TRAMPOLINE 216(5]14[5]5[6]2[2]4[0]159]9.5] 4.1 [12.610{42.110
2 FifE 28 BRI 8[5]1618(7|8|717[6]7]10]13.1[{9.2 6.5]13.330/42.080
3 JIIA #d BRI 41714161514 [6[6[4]6]4]144]|09.6] 4.1 [12.090{40.190
4 A 2% | MUSASHI TRAMPOLINECLUB| 5|1 7|1 6|18 | 5|71 717]|5]6]2([13.5]9.6] 4.1 112.980{40.180
OPZ&1l - BRER #Rom /13- 6[4]1]4]5]5]6]|5]|]6|[5[6([2]146]9.2[17.3[16.470(57.570




